
3D4(2).3 (mod 2)

blocks defect matrix

G : 1 12 46× 13
2 0 40961 = χ34,0, ϕ16,0

3 0 40962 = χ34,1, ϕ16,1

4 = 3 0 40963 = χ34,2, ϕ16,2



Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ2+ ϕ5,0 ϕ5,1 ϕ5,2 ϕ6+ ϕ9+ ϕ12,0 ϕ12,1 ϕ12,2 ϕ13+

11 = χ1,0 1 . . . . . . . . . . . .
12 = χ1,1 . 1 . . . . . . . . . . .
13 = χ1,2 . . 1 . . . . . . . . . .
261 = χ2,0 . . . . 1 . . . . . . . .
262 = χ2,1 . . . . . 1 . . . . . . .
263 = χ2,2 . . . . . . 1 . . . . . .
521 = χ3,0 . 1 1 1 1 . . . . . . . .
522 = χ3,1 1 . 1 1 . 1 . . . . . . .
523 = χ3,2 1 1 . 1 . . 1 . . . . . .

1961 = χ4,0 . 1 1 1 1 . . 1 . . . . .
1962 = χ4,1 1 . 1 1 . 1 . 1 . . . . .
1963 = χ4,2 1 1 . 1 . . 1 1 . . . . .
2731 = χ5,0 1 . . . 1 . . . . 1 . . .
2732 = χ5,1 . 1 . . . 1 . . . . 1 . .
2733 = χ5,2 . . 1 . . . 1 . . . . 1 .
3241 = χ6,0 . 1 1 1 2 . . . . 1 . . .
3242 = χ6,1 1 . 1 1 . 2 . . . . 1 . .
3243 = χ6,2 1 1 . 1 . . 2 . . . . 1 .
10531 = χ7+ 3 3 3 5 2 2 2 2 1 . . . .
4681 = χ10,0 . 1 1 1 2 . . 1 . 1 . . .
4682 = χ10,1 1 . 1 1 . 2 . 1 . . 1 . .
4683 = χ10,2 1 1 . 1 . . 2 1 . . . 1 .
6371 = χ11,0 1 2 2 2 2 1 1 . 1 . . . .
6372 = χ11,1 2 1 2 2 1 2 1 . 1 . . . .
6373 = χ11,2 2 2 1 2 1 1 2 . 1 . . . .
10532 = χ12,0 1 2 2 2 3 1 1 1 1 1 . . .
10533 = χ12,1 2 1 2 2 1 3 1 1 1 . 1 . .
10534 = χ12,2 2 2 1 2 1 1 3 1 1 . . 1 .
12741 = χ13,0 4 2 2 4 2 2 2 2 1 1 . . .
12742 = χ13,1 2 4 2 4 2 2 2 2 1 . 1 . .
12743 = χ13,2 2 2 4 4 2 2 2 2 1 . . 1 .
16641 = χ14,0 6 2 2 4 2 3 3 1 2 1 . . .
16642 = χ14,1 2 6 2 4 3 2 3 1 2 . 1 . .
16643 = χ14,2 2 2 6 4 3 3 2 1 2 . . 1 .
57331 = χ15+ 7 7 7 9 5 5 5 4 3 1 1 1 1
63181 = χ18+ 8 8 8 10 6 6 6 4 4 1 1 1 1
21841 = χ21,0 6 4 4 6 5 3 3 2 2 2 . . .
21842 = χ21,1 4 6 4 6 3 5 3 2 2 . 2 . .
21843 = χ21,2 4 4 6 6 3 3 5 2 2 . . 2 .
73711 = χ22+ 11 11 11 15 8 8 8 6 5 1 1 1 1



(Block 1:) ϕ1,0 ϕ1,1 ϕ1,2 ϕ2+ ϕ5,0 ϕ5,1 ϕ5,2 ϕ6+ ϕ9+ ϕ12,0 ϕ12,1 ϕ12,2 ϕ13+

84241 = χ25+ 8 8 8 9 5 5 5 3 4 1 1 1 2
114661 = χ28+ 14 14 14 18 10 10 10 8 6 2 2 2 2
119071 = χ31+ 15 15 15 19 11 11 11 7 7 2 2 2 2
50961 = χ35,0 6 6 6 7 7 3 3 2 3 2 . . 1
50962 = χ35,1 6 6 6 7 3 7 3 2 3 . 2 . 1
50963 = χ35,2 6 6 6 7 3 3 7 2 3 . . 2 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ2+ = 241
ϕ5,0 = 261
ϕ5,1 = 262
ϕ5,2 = 263

ϕ6+ = 1441
ϕ9+ = 4801
ϕ12,0 = 2461
ϕ12,1 = 2462
ϕ12,2 = 2463
ϕ13+ = 23521


